DIVISTON

Ch-0

Division Using Multiplication Facts
1. Fill in the blanks:

@ 3x1=3 3 :1=3 () 9x¢ =54
®) 7x2=14 1@.:2=-73 (g) 5x7 =35
(€ 4x3=12 12:3=1Y (h)y 9x8 =72
(d) 7x 4 = 28 28+4=4 () 7x9 =63
(€) 8x5=140 40:5=8 () 8x10=80

2. Divide:
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e Quotient is 66 Quotient is 39 Quotientis 5L -
Remainder is QF Remainder is 06 Remainder is Q4.

T3 There are 207 flowers. They have to be made into bunches of.
9 flowers each. How many bunches can be made? |

© Wumbex of bunches of Plowey Can be nade=20%+9
‘ =23.
|4, A carton has 873 items. They have to be packed into packets of 10
| items each. How many packets can be packed? How many items

| will be left behind?
et can be packed= 813z=10=%%
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mW EXERCISE 5.1

¢ 1. Fillin the blanks: |
(a) Divideinto 1T groups using table of 11.

l ] : ] [w_,...l....al.,-,_.l.m-lmul.“.-Lw‘ L,...LML ] [ DS R Y S N Y | B e e

11 + 11 :-.__1___ (1211 = 11)

2 N =2 (2711 =122
13.+11 = &3 (3211 = 33)

44 « 11 = _,,I:{__ (4211 = 44)
5511 = _85 (5711 = 55

66 - 11 = 6 (6711 = 66)

77 - 11 = ] (711 = 77)

88 11 = B (8711 = 88)

99 - 11 = 9 (9211 = 99)

110 - 11 = _J0_ (10211 = 110)

(b) Divide into 12 groups using table of 12.

12:12=_1 (1212 =12)

24 + 12 = 2 (2212 = 24)

36 - 12 = _3% (3%]2=36)
48_]2-‘:_’-,_ (4212 =4 8)

60 - 12 = _§ (5712 = 60)

72 12 = __6_ (6x]2 = )
96-.]2= 3 (8%12=96)
10812 =_9  (9x12 = 108)

120 - 12 = 10 (10%12 = 120)

(c) Divideinto 13 groups using table of 13.

13+13 = 1 (1%13 = 13)
26 + 13 = 92 (2713 = 26)
9413 =3  (3x13 = 39)
52+13 = = (4x13 = 52)

1 65+13 = _§H (5%13 = 65)
‘: 78 +13 = _Q (6x13 = 78)
91 + 13 = 7 (7%13 = 91)

104 + 13 = _@ (8x13 = 104)




———

;-:“ 17 13 = 9 5
= 1.30. H -3 (1(0213 - 117)
Ld (d) Dl\:ldL‘HﬂO 14 groups us; 13 = 130)
T })4 -14=_1 | :l:l“‘s; lable of 14,
| 1 ._8'1'14: X]4=1‘
| 42-:'14:& (2"14=2§;
] 56 - 14 = 4 (3% 14 = 42)
— 014 - B (a0
i s4:14 = & (5> 14 = 70)
| 1. T ol
B 112 - 14 = _§ (7> 14 = 98)
] 126 - 14 = _9 (814 = 112)

140 - 14 = 10 1(8”4 = 126)
(¢ Dividei PHd = 140
E ide into 15 groups usi
F_ 15 - 1 ing table of 15.
‘. 20 N (1x15 = 15)
| 4 30 - 15 2 (2x1

45 .15 5 = 30)
B 15=_3 (3x1

i ~ x 15 = 45)
i 60 -15 = 4 (4x15=60)
| 4 75 + 15 = (5 15 =
| 5 (6x15=175)

lk 90 - 15 = _b (615 = 90)
i 120-15 = @ (8x15=120)
i 135 - 15 = 9 (9 x15 = 135)
<, ..130+15=_11L (10 % 15 = 150)
il [()lwde using multiplication facts of 11 to 15.
m ) 5511 = 9 7 . 12 =
by 9.1 = F 3045:%1?%'1426"
B 8 70 - 14 = 5 39 .13 = 3_ 78T]113,=1_8_-
I ) 60 - 12 = 66 - 11 = ) i .
1 © 105+15=%126;14=i]g?5;15=8_'
(f) 36 - 12 =l]35’15=_9_ (—14::1
7 ® 75.15 = O3 0.1 - 6+ 32 0
"ELAL 28;14=2—]20f12:l%150+15=m
L} (1) 5 + = 77 + 112 l
;, .11 =8 26137 9 117 - 13 = 9
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Evample 1: 3751 + 11.

Solution:
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Example 1: 7593 + 12.

Solution: 1257 593

Quotient = 632; Remainder =9
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EXERCISE 5.4

S

L. A mini theatre has 121 seals arranged in 11 cqual rows. How many
seats are in cach row?

> Numbey 0f Seats o mini theatse has= 12]
Numbed of yows = ||

Numbey of geats eotck sow has=121+11=14

1) 12
Wi
ol
N
Answer: 11 Seats- 0L

2. 117 pencils are Lq be equally packed in 13 packels. How m

must be packed in cach packel?
= Numbes of pencils =3
Numbey of packets- 1z
Numbes of pencils im each-packet = 117+13-9
13} 11T 6

- 113 L
00D

any pencils -

Answer: 9 penc'lls Packed I each PaCke'l:‘ —~

3. An orchard has 126 trees planted in 14 ¢
are in each row?

> Numbes of tyees an, Ovchard hag = 126 [
Numbey Of equal wow = |4

Mumbes of tyees in each wow -12624=9

qual rows. How many trees_

14)126 (9 |
126
000 :

1

—  Answer: 9 treeg ave in each ¥ow -
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(‘.; men WOTe O \I.\H\’ Lh\‘ ded s ]
| : | ided into 15 teams, FHow many men are 10
each team | :

> Tota] mumbey of ‘jmen:léS ¥
l;‘umbezs of team = IS P
umbes of wep Im each feam:= 165+15=1

15)165 (1]
15V
D15

i

answer: Theye ose I men @n ea%g +eam.

L L o . .
. 7200 toftees are to be packed in packets containing 10 toffees each.

How m’_avn_\' such packets can be made? 7129
= T&'{:Ojbﬂumbeb of toffees=7290 10 1230
vmbey of toffees in each packets=10 10
Numbey OF packedscan be w[))ade:'IZClD%lD O.%g
-3 0%
do_
00

Answeer: These o¥e 129 PC\CKE{:S con be made -

6. 6336 saplings arc o be cqually planted in 1 gardens. How many

saplings will be planlcd in cach
2 Total numbes of Sop\fngs = 6336
Numbe of gasden - I
Numbes of Saplingg in each qowdep- 8336+l

= 5F6 516
16336

-55¢
033
5 -T1
Answer: Theve ove DF6 Saplings will 066
be pam’c T each ga¥den - 661t
L ol 00 |

¢ rden?
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7. Each bundle is to have 12 sheets. How many bundles can be Madg

LE using 1728 sheets? T
— 35  Numbes of gheets = 1128 =
1 Numbes of Sheets each bundle have =12 3
i Numbes of bundles can be made = [F#28+12 1
gL 14y 3
rgxgi%( i

] oggl
oys E

ug

Answer: Theve ave Yy bundles. 55 |&

— S. 1862 eggs are to be packed in trays with 13 eggs in each tray. How '

many travs can be packed? ' |

i D Total mumber of €q9g = 4362 .

1 Number of eqgs im each trays =13

I Numbeyx of t¥ays con-be-packed=4862+13

1 13)4862 (314
—— ¢/

o 96
—— 052

Answer: Jhe¥e age 3FY -l-:cayg Can g? PackeA.

9. 7280 bags of wheat have to be equally stored in 14 godowns. How
many bags will be stored in each godown? |

> Numbesx of bags of wheat = 280
Numbey of 9odowns /= {4
Numbes of bags will be-stoved in ach qodown=F280:14 |
{ I4) 3280(520 = i
| 104
204
28
600~ —

Answer: Theye o¥e 520 bags Wwil] be Stoved in each
godown- |

(78] 3
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soalows

g0 encils have to be packed in packets of 15 pencils each. How i{’ |
10. any packels can be made? — B
> Numbes of pencilg= 3980 i i’“
Numbey of pencils in each pqcke’cs=15 — B
i
Numbe6 OFf Packe{s can be nodes :{'9 Q015 "
15)7a%0(532 i
15y B
bus i
yus Vi
answer: Theye oye 532 Packets . 030 Bl |

1 (040 items are to be packed in packets containing 11 items each. How ==
many such complete packets can be made? How many items will be -‘-—

left behind?

CS T8

Numbes of items=j60L0 weous
Nurmnbes of items in each Pocke’cs=1i 554,1 |

Numbey of chke-}g can bemades OUO)| -533

= 9Yq o0
19
ol

P

Answer: Jheve ove D49 packets can be rnode ond Ol left
be equally planted in 12 gardens. How many

12. 9267 saplings are to - '
ted in each garden ? How many saplings will be

saplings will be plan
left behind?

Numbes of qu\‘mgs =J9267

mebe‘a OF SQ}fdensr _12,___
Numbes of saplings Will be p\cm’cecl in each aoxden:

8 84V

PUNSESISSE s
—————

°k
Answer: #+2 Saplings Will be planted: 027
i 3 Gaplings-Dve Wit 2%
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complete bundleg Cany

13. Each bundle is to have 13 sheets. How many ¢¢ !
made using 2370 sheets? How many sheets will be left bci}%wg?

Nuombey of gheets=2330 13) %3330

Numbes OF sheets ineach bundles13 5%

. be made= 2370513 104w
Number ef bundleg can ol 0030

These ose 182 Sheets will be made-amd o4 :%%_

Sheets will be Jeft -

Answer: |
T 14. 4855 eggs are to be packed in trays with 15 eggs in each tray. Hoy: ]
many complete trays can be packed? How many €ggs will be et {1
behind? - 2 I
= Numbes of eqqs=H355) 5 4825
Number of €998 1n eaﬁb_‘_lslﬁgf 15 eqqs 45V
Number oOF -l;mgs Can be Pac\(ecl=4-355 315 0%,(‘)5 A
Theve ove 323 trayg cav:—l;——[;dckec‘ omd 0'45— g |
[0 Wil : =
€q9s be left- TO
i
Answer: "
GRS e T '
{iDivision/Ead
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Property 1:If a number is divided by itself the answer is always 1. |

2527 + 2527 =1
Let A be any number. Then
h A+ A =1 }

’ lm/ 7. 1f a number s civided by [ the
BT Sa
— M 454123345

; Let A be any number. Then

Z

i

{
answer is the number itself. ’[
——
——
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m‘g{ EXERCISE 5.5 1
il in the blanks:
1 23632363 = _1 2. 2446+2446 = 1 -
3, 4416+ 44]€ =1 4. 5183+51%8 = 1
5. @345+ 8345=1 6. T4yl + 7441= 1
7. 6di=1 = _126Y4 8. 5215:1 =52I5 -
9, 3527+ _1 = 3527 10. 2424+ _4 . =424
1. 8257+ 1 = 8257 12, 41381 = 4738
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SH82 items were equally packed in 14 boxes. How many 1tems we,,
packed i each hox? 1Y) 5%

3
Numbey of {tems- 8s%2 —B4¢
Nm_bev__gﬁ_b| oxeg={4 -O-Trﬁ"‘/\

Numbey of items i £ o
R a¥e 6|3 [tems iy eady box-

. There are 7159 balls. They have to be packed into packeé&(f 19

behind? 2

each. How many packets can be made? How many ba]lg' vill be Jef;
j'—?—l52

t
NOm 0 = 604
bew of balls-352 - {9 _ll]——gi o
Numbes of packets can be made~ 596 Packets 0842
Thene “awe 59¢ packets “Eam bewmade. 42
Divide the sum of 2335 and 5695 by11. 130 6o
dum=23354589¢ = §30 “5391‘3
N ]
$030%) = 130 033 |
33—
. Subtract 4735 from 9285 and divide the ans%/%r by 13.
Subtsaction = 9285-4%35= Us50 I3) 455p
H 35013 =35p 9
0E%
. Multiply 1344 by 5 and divide the product by.12. ©9D
l ' ) = ' - l2
Multiplication = |3u4yx5=6%20 )g_ili
6720+12 =560 0712
2
0oQ

Iach box has 2870 buttons. Three such boxes were opened. Now

buttons were repacked into packets of 14 buttons each. How many
packets will be obtained?

Numbes of buttons-2930

. Round 8972 to nearest hundreds and divide the‘fesult by 15.

Nearest hundyeds = 8972 b55qogo f
" 12>50 29000 —a¥,

A\ — g

= 9000 +1S =40n 9

x\fqt[xetttntics-ll I‘

e




